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2 slices in "030414a/byte"

the highest peak value = 17574.7 / height unit = 17574.7
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the highest peak value = 5711.33 / height unit = 5711.33
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the highest peak value = 13909 / height unit = 13909

al
l s

lic
e 

in
 "

03
04

14
b/

by
te

" 
: p

ea
k 

va
lu

e 
=

 4
03

43
10

.3
33

33
3

03
04

11
i

pi
xe

l v
al

ue
 (

bi
n 

si
ze

 =
 3

)
75

22
5

29
6

00
2 slices in "030411i/byte"

the highest peak value = 28 / height unit = 28
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the highest peak value = 276 / height unit = 276
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the highest peak value = 38.3333 / height unit = 38.3333
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the highest peak value = 292.667 / height unit = 292.667
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the highest peak value = 2390 / height unit = 2390
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the highest peak value = 40.6667 / height unit = 40.6667

al
l s

lic
e 

in
 "

03
04

11
g/

by
te

" 
: p

ea
k 

va
lu

e 
=

 9
55

5.
33

33
33

03
04

14
d

pi
xe

l v
al

ue
 (

bi
n 

si
ze

 =
 3

)
75

22
5

29
6

00
2 slices in "030414d/byte"

the highest peak value = 57 / height unit = 57
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the highest peak value = 316.333 / height unit = 316.333
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the highest peak value = 379 / height unit = 379
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